Test your clicker with this question:

How did you get to school today?

A: Walked

B: Bicycle/skateboard/roller blades/etc
C: Bus (or other mass transport)

D: Car (or other internal combustion private transport)

E: Other
Where are you on the educational ladder?

A: High school

B: Freshman

C: Sophomore

D: Junior

E: Senior and beyond 
Which was the best Star Trek TV series?

A: Star Trek, original series 1966-1968

B: Star Trek, The Next Generation

C: Star Trek DS9

D: Star Trek Voyager

E: Star Trek Enterprise
Concept Test Day1-1.

A square with edge length L is made larger and larger...

[image: image1.wmf](

)

length of 

perimeter

area


As the square grows, the ratio  
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A: increases
B: decreases

C: remains constant.

Day1-2.  A calculator question:

105  = ?    

A: 1E5

B: 10E5

C: something else.

Day1-3. Units question:

1 meter = 100 centimeters ( 1 m = 100 cm)

How many square centimeters in 1 square meter?  

(How many cm2 in 1 m2   ?)

A) 10 
B) 100
C) 1000
D) 10,000
 E) 100,000
Day1-4 There are 1000 bananas in a kilobanana, there are 10 crates in a decacrate.  How many bananas per crate is 1 kilobanana per decacrate.

A) 1
 
B) 10
C) 100
D) 1000
 E) 10,000
Day1-4.
I drop a big rock and a little rock simultaneously from a tall tower. (Both rock are really dense and heavy.) Which one hits the ground first? 

A) Both hit at the same time. 

B) The big rock hits first.

C) The little rock hits first.

Day1-5.

A glider is gliding along an air track at constant speed.  There is no friction (assume that the air resistance is small enough to ignore).

What can you say about the net force (total force) on the glider?

A) The net force is zero.

B) The net force is non-zero and is in the direction of motion.

C) The net force is non-zero and is in the direction opposite the motion.

D) The net force is non-zero and is perpendicular to the motion.
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Day1-6.

An astronaut in intergalactic space is twirling a rock on a string.  Suddenly the string breaks when the rock is at the point shown:
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Which path (A, B, C, or D) does the rock follow after the string breaks?

Day1-7. 

A moving van collides with a sports car in a high-speed head-on collision.  Crash!
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During the impact, the truck exerts a force Ftruck on the car and the car exerts a force Fcar  on the truck. Which of the following statements about these forces is true:

A : The force exerted by the truck on the car is the same size as the force exerted by the car on the truck:  Ftruck = Fcar

B :   Ftruck > Fcar

C :  Ftruck < Fcar
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